
�������

�����������������������
����


�� 
�
	����������

�������������


������

������������
�� 
�


1 1802x436x29 1

2

3

4

5

6

7

8
9

9

10

1011

12

12

13

14

14

15

16

17

18

19

19
20

21

21

22

22

23

24
2 1742x387x18

3

4

5

6

7

8

9

10

11

12

13

1764x416x18

1802x436x26

840x416x18

840x416x18

821x332x18

821x332x18

782x75x18

473x320x18

766x300x100

766x300x200

14

796x164x18

15

796x332x18

16

496x164x18

17

496x164x18

18

496x332x18

19

496x332x18

20

250x250x37

21

1780x837x3

22 

392x160x4

23

392x470x4

24

1764x397x397

8x30mm

A

6x30mm

C

Ø15

D

Ø18

G

Ø5x34

H

77x20x15 mm

L

3x16 mm

M

4x16 mm

P

4x25 mm

Q

4x35 mm

R

5x60 mm

U

3x20 mm

V

4x20 mm

W

4x16 mm

X

M4x25 mm

Z

25mm

40mm
M4x40 mm

A1

6x10,5 mm

D1

50mm

L-50 mm

I1

15mm

m
m01

K1

U1

V1

Ø7/9x4

A2

T=0

T=0

110

C2

D2

E2

E2- R

300 mm

E2- L

300 mm

I2

H=20

L2

L=42 mm

R2

Glissando 

Ø7x1,5

3x20 mm

Q2



��������������
�­� 
��
���
�� ��� �
���

����������

4 
8 

A
C

B

A B C

max.
10kg
max.
10kg

max.
10kg
max.
8kg

max.
10kg
max.
30kg

max.
10kg
max.
8kg

max.
10kg
max.
8kg

20min

TYPE T01-Sideboard /ArtikeLnr: MTA3ET01  

Schublade mit 3x20mm
schrauben an die Unterführunaschine befestiat 

77x20x15 mm

L

Q2

L2

Z

L2

Z

L2

M4x25 mm

Z
25mm

40mm

M4x40 mm

A1

4x16 mm

P

L

L

L

P

U

x2 x8 x2 x2

50mm

L-50 mm

I1

x2

Ø8

L2

L=42 mm x5

A1

Ø18

G

E2

Ø7x1,5 x10

x26

E2

E2

G

5x60 mm

U

x2

U

I1

I1



23

�������������

��������

��������

1

1

��������������
�­� ���
���
�� ��� �
���

����������

TYPE T01-Sideboard /ArtikeLnr: MTA3ET01  



TYPE T01-Sideboard /ArtikeLnr: MTA3ET01  

Ø8

D

20
36mm

Ø8FRONT SIDE 19

64mm

64mm

36mm

BACK SIDE

BACK SIDE BACK SIDE

A


��
��
�����

����������

��������������
�­�


 �
19

�

025033ZB

19

�

1919�
��


B

C

19
19

��
�����
� ­�����

D

191919

C

B
B



���
����������

��������������
�­�

236,5 mm 236,5 mm

12
0 

m
m

236,5 mm 236,5 mm

12
0 

m
m

236,5 mm 236,5 mm

TYPE T01-Sideboard /ArtikeLnr: MTA3ET01  

��
�����

20 20

5 
m

m

5 
m

m

19191 19192

19193

05022ZB

��
�����
� ­����������������

B C

A

Ø8

E

D

F


